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2-1 Formule brute de cet alcane: {tex}C_{2}H_{6}{/tex} (éthane).         (0,5 pt)

  

  

2-2-1 Equation bilan de la réaction

  

  

{tex}2C_{2}H_{6} + 7O_{2}longrightarrow 4CO_{2} + 6 H_{2}O{/tex}    (0,5 pt)

  

  

2-2-2 La masse de l'alcane:

  

  

{tex}n(O_2)= 0,1mol n(C_{2}H_{6}) =0,029{/tex} mol.
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{tex}m = n(C_{2}H_{6})times M (C_{2}H_{6}) = 0,029times 30 =0,87{/tex} g.    (1,5 pt)

  

  

2-2-3 Volume de dioxyde de carbone.         (1 pt)

  

  

{tex}n(CO_2)= 0,057{/tex}mol    {tex}V(CO2).= 0,057times 25 = 1,425{/tex} L     (1,5 pt). 
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